Sub-Section Number: 1
Sub-Section 1d: 405036124
Question Shuffling Allowed : Yes

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The de Broglie wavelength of an electron
in the 4™ Bohr orbit is :

Options:
1 ] -—1':1'aﬂ

7.

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

<1eft =R e H U Solag Sl S-anell qires

B
Options:
Ty "%
2. B
3 %
4. 27a,,
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Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

4ol el saml wdl 215 dagindl Sl-ol
Ao el

Options:

1 4~.raﬂ

2* S'rraﬂ

4‘ 2’:1"&{}

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

I[f the magnetic moment of a dioxygen
species is 1.73 B.M, it may be :

Options:

1. O, 0r O

9 O, or .{}Pf

¥
g O3 or O3

. o
4 0,, 05 0r O;

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

TF SEATFIEE TS &1 JFhE AT
1.73 B.M %, g ol Hahdl % i gcqllegeduniag
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Options:
—I O, 941 05

2 O, J9=1 O3

l‘
O, FFE 03

3.

4 O O; ST O3

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

25 sl Wl Al deisl asHeE
1.73 BM & dl o €l 25 :

Options:

1. O, *-'1?{':{1.{}2

O, 24l OF
3 O3 MU OF

- v
O, 07 M O3

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

If enthalpy of atomisation for Brz{l} is
x k]/mol and bond enthalpy for Br, is
y k] /mol, the relation between them : gco"egeduniag


Stamp


Options:
1 isx=y

2' 5x >y
3' Isx <y

4 does not exist

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A Br,,, F faw F0H T x K /mol @

A1 Br, % foTT 37/=+ T=Iedt i kJ/ mol &1,
F A9F =Y

Options:

-'|_ x=y%}Fﬂ

0, e
3. F<y@m
4. T g

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Bryg il wRaeeld 5261 el x kJ/ mol &
4 Br, U2 ¢i8 221l y K /mol 8. dl du-l
42l ey

Options:
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3 x<y®

4 e, Gzl 2

Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

For following reactions

A 70K _ Product

500 K

catalyst Product

it was found that the E, is decreased by
30 k] /mol in the presence of catalyst. If the
rate remains unchanged, the activation
energy for catalysed reaction is (Assume

pre exponential factor is same) :

Options:
1 105 kJ/ mol

2 135 k]/mol
3 75 k] /mol

4. 198 kJ/mol

Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 gcollegeduniag
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qE AT A fF ITUIF HT I9rETd H
E,, 30k]/mol # 92 7% | Afg <X rafiafda @
@ Safta sl & fou w@feam =t 2r
(9 TS g SR T S8 R )
Options:

1. 105 kJ/mol

2 135K]/mol

3. 75k/mol

4. 198 kJ/ mol

Question Number : 29 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
AliAl WAl e,

A —TOK . fvey

Ao SOR e
Belus
2y el He 5 GelusHl sl E, wi
30 kJ/mol sredl g2l 2 9. sd Ul =
oEdledl A €1 dl, Galusl wbu wie Al ulbusael
alsd, (Adldl 5 ydadisle wiadd Hud 9.)
3liAl

Options:
1. 105 kJ/mol
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23 135 kJ/ mol
3 75 k] /mol

4. 198 kJ/ mol

Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The KEP for the following dissociation is
1.6 x10~°

PbCly) = Pblagy + 2Clag)
Which of the following choices is correct
for a mixture of 300 mL 0.134 M Pb(NO,),
and 100 mL 0.4 M NaCl ?

Options:
1. 2%
2 ” Q = K‘:P

3 Not enough data provided

4. 5

Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

e ferdiror o fordl K, #1 M 16 X105 %,
PbClyg) = Pbing +2ClGq)

0.134 M Pb(NO;), F 300 mL T91 0.4 M
NaCl % 100 mL =1 faa=T == 73 g &
foru =1 § & 19 o1 faeey War 82
Options: chllegedunias
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Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

AL [Fetlort 2 K, 16%1077 8.

' 2

PbCly(y = Pbag) + 2Cluq)

2 el wrigsllzi Usl 59 215 300 mL

0.134 M Pb{NC'3}2 e 100 mL 0.4 M NaCl
AL BEel we well 5 7

Options:
1. 7%
9 Q=K

] Yl wileld Guasy il

4‘ Q e Ksp

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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‘X’ melts at low temperature and is a bad
conductor of electricity in both liquid and
solid state. X is:

Options:
1 Zinc sulphide

2 Carbon tetrachloride
3 Silicon carbide

4 Mercury

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

X* = o e foraeran @ aen 59 @9 3 26
e | foamd w1 FaeE 81 X B

Options:

1. &= AewEs

5 T

3 Tuewe FEice

4. v

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

X 2L A B § A doedd el

ot Al [EYd Ul vRIeL dles

£ ol X 2LEL

options: # collegedunia
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1. Gis uestds

2 5l 2ZdRIES

3 [Rfasiq steds

4 wasyil

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

B has a smaller first ionization enthalpy

than Be. Consider the following

statements :

(I)  itis easier to remove 2p electron than
2s electron

(IT)  Zpelectron of B is more shielded from
the nucleus by the inner core of

electrons than the 2s electrons of Be

(ITI) 2s electron has more penetration

power than 2p electron
(IV) atomic radius of B is more than Be
(atomic number B=5, Be=4)
The correct statements are :

Options:

1. (. (1) and (1)
9 (0, (1) and (IV)

9 (1), (1) and (IV)

gcollegedunias
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4. (D, (I and (IV)

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

B %1 Y99 & T4l Be ¥ FH 21 44

FYE T fgEr Tt
() 2s SeTa2i =1 go | 2p Feraeiq g2l
HAHA E

() Be % 2s Soiaeil &i g1 § B &
2p 1 ot o e | e E At A o B

s I =are) gfafag 2
(TI) 2p Se=2HEl i e H 2s Seiae =i
TE9T W e E

(IV) B =1 TH] 51, Be ¥ =1 £
(9TATY] H&=A1 B=5, Be=4)
A FA T

Options:

1. (D, (D) =0 (II)

5 (D, (1) T (IV)

3 (1), (1) = (IV)

4. (O, () T (V)

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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B Al My 2Alszel pi-eiedl Be sadl Al .
A2 AL [Sandl sl |l

(M 2p Al 95l 25 L S5zl 52l §3 526l
Al 8.

() B -l 2p gds2i Be Al 25 dA5Zid 53l
il Be2 51l Selsgle b crll 2y saael
94y, 2ollEd ©.

(TI) 25 gAsginl Mg 2B 2p FasgiA s
94, .

(IV) B «l yzsodly Bisadl Be s3cl 49 9.

(uzsiec{ly 54 B=5, Be=4)

W2, su- 20l

Options:

1. (O, () > (1)

9 (D), (@) =4 (IV)

3. (I, (1D >4 (IV)

4, (O, () 24 (V)

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

According to the following diagram, A

reduces BO, when the temperature is :

| |
oo es)
£3. e
o S =

AG®/k] mol ~?

/
capggy ATGeFAGy 7Z—

~1200{ B+O~—>BO,

0 200 400 600 800 10001200 1400 1600

—=T{("C) ;
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Options:
1. <1400°C

9 >1400°C

3 >1200°Cbut <1400°C

4, <1200°C

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

7= f= % A19ER A, BO, 1 AT=IT HLl

%?ﬁ! arg % -

— —600

|

=

g —8nd o
'T a

< 1000 A+=.’,’:|1—FM__}2 I —f/—
et e r

=]

— 1200 B+0,—=BO,

0 200 400 600 800 10001200 1400 1600

—*TC)
Options:
1. <1400°C
2 >1400°C

3. > 1200 °C 9% < 1400 °C

4. <1200°C

Question Number : 33 Question Type: MCQ Option Shuffling: Yes Qcollegedunias
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Al 2l 2ugld yoret A 2B BO, o Remin
53 6l AMHIA

. —600 }
£ —s00}
iy SFepRey el
A S —
—1200f  B+0O,—»BO,
(0 200 400 600 800 10001200 1300 1600
—T(°C)
Options:
1. <1400°C
2 >1400°C

3. >1200 °C 4EL< 1400°C

4, <1200°C

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The acidic, basic and amphoteric oxides,
respectively, are :

Options:
1. MgO, CLO, ALO,

9 CLO,Ca0,P0y,

gcollegedunias
.....


Stamp


4.

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

S, AT 9 SHAYH] SEAES 9

Na,O, SOs, ALO,

Options:

1.

5 NyO;, LiO, ALO;

3.

4. Na0,50;, ALO;

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

wifufss, olls 2 Gopppell 2lsudsl w54

MgO, CLO, ALO,

CLO, Ca0, POy,

UL ;

Options:

1.

MgO, CL,0, ALO,

N,O,, Li,0, AL,O4

CLO, CaO, P,0,,

Na,O, SO, ALO,

gcollegeduniag
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Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The compound that cannot act both as
oxidising and reducing agent is :

Options:
1. HNO,

2. 0,

3. I‘L,SC'_3

4, HaFOq

Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

T2 ANTF F ITEEF G991 ATIEF A FH
TE FE T8 H g, © ;

Options:
1. HNO,
2; e
3; Pt
4, HeO

Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Hdlort 5 o/ 2AUsHIAAGAL 24 (28525l 244
oid ctdls aedl 25l 2l d : Qcollegedunias
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Options:
1. HNO,

7. H,O,

3* I—IFJ.EU'3

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The electronic configurations of bivalent

europium and trivalent cerium are :
(atomic number : Xe=>54, Ce =58, Eu=63)

Options:
1. [Xe] 4f7 6s* and [Xe] 412 6s*

2 [Xe] 42 and [Xe] 417
3 [Xe] 47 and [Xe] 4f

4 [Xe] 4% and [Xe] 4f°

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

o Fftam qwa HeEes diftam F
Torgel e A= € ¢ (TE] HE Xe=54,
Ce=58, Eu=63)

Options:

Qcollegedunias
.....


Stamp


1. [Xe] 4f7 6s” 91 [Xe] 412 65>

2 [Xe] 462 T [Xe] 47

3 [Xe] 47 T [Xe] 41!

4. [Xe] 4f* T [Xe] 4f°

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

(g oaelet 3R 2t Beula Bl L dasgi-ld
AL 2l (WA 545 Xe=54, Ce =58,
Eu=63)

Options:
1. [Xe]4f7 6s% 24 [Xe] 4f% 65

7 [Xe] 4 2 [Xe] 4F

3. [Xe] 47 2 [Xe] 4f!

4, [Xe] 4f* =t [Xe] 4

*

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Complex X of composition Cr(H,0).Cl
has a spin only magnetic moment of
3.83 BM. Itreacts with AgINO; and shows
geometrical isomerism. The IUPAC
nomenclature of X is :

Options:

1. Hexaaqua chromium(Ill) chloride

Tetraaquadichlorido chromium(IV)
? chloride dihydrate

Tetraaquadichlorido chromium(IIT)
3 chloride dihydrate

Dichloridotetraaqua chromium(IV)
4. chloride dihydrate

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Cr(H,0)Cl,, T929 F d@Fa X F1 fom 73

1 TEHE A 3.83 BM B T8 AgNO, F
1y AR Al § SR S SEEged

WA FME X AT I N T H AT
Options:

1. EFECHEHTREA() FEE

SEUFETEEFANEE] FHIHTH(IV) FATES
2 EEEREE

xn =, = =, 'xﬁ {I]]} =
3. SEEEgE

gcollegedunias
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TEFANE ST FIHFH(IV) FANES
4, TR

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

dlBeL X o larel Cr(H,0),Cl, 8. ddl 55
2l Yorsld AsHAL 3.83 BM 6. o AgNO,
H12 WAL 52 6 2 olif(ds yHuesdl sl ©,
dl X« TUPAC -Als2¢L 2Wdl :

Options:

1. SspriscusiBem(n) sargs

2215 HsAL S s BE(TV) sdlzds
9 SHsBge

2212051 AR S s L BT selzigs
3 slasge

sesalRl sz s FHu(IV) sdiads
SIS
4. 3¢

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

[PA(F)(CI)(Br)(I)]2~ has n number of
geometrical isomers. Then, the spin-only
magnetic moment and crystal field
stabilisation energy [CFSE] of
[Fe(CN) "¢, respectively, are:

[Note : Ignore the pairing energy]
Options:

gcollegedunias
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1 0BMand —24 4,

9 173BMand -204,
9 284BMand ~ 164,

i 592BMand 0

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

[PA(F)(C1)(Br)(D)]2~ & =aqdr= HHETE i
T n 1 T [Fe(CN) " 6 &1 fo A9
TEHE A a1 Tohee &7 T Sl
[CFSE] #9ur: 2 :
[ A2 : grHa Sl 1 SIS S |

Options:

1. OBM T —24 4,

2  L73BM @ —-2.0 4,

3 284BM T -~ 16 A,

il 5.92 BM 410

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

gcollegeduniag
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[PA(F)(ClBr)(D)>~ wd ollbilds wuuesiHl
ol n &, dl [Fe(CN) ] © -l 55 24l 2jsld
2l i 2sles w3t RAlsvel Ged [CFSE]
w454 2UE

[ e yllszel God A 2ieiel]

Options:

1. 0BM il 244,

2 173BM 21 —20 4,

g 284BM 2 —164,

4. 5.92BM =10

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which of these will produce the highest
vield in Friedel Crafts reaction ?

Options:
NH,
e

], ==

gcollegedunias
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CONH,

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Fi=e TR ATafF § w19 § #F HAfusan

IS S 7
Options:
NH,

’-::;H‘

1. S

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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efl2l e sl 54l 2is pod sz ulami el
8] Alusy 214217
Options:
NH,
=

|
1* I

Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The increasing order of basicity for the

following intermediates is (from weak to

strong)
T s
H,C-Co H,C=CH —CH,
I
CHjy
(1) (ii)
s 9 =
HC= E CH; CN
(1ii) (iv) v)

Options: gcollegedunias
||||| s largest Student Review Platform
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1. () < (@) < (iv) < (i) < (i)

9 (v) < (i) < (ii) < (iv) < ()

3 (Hi) < (i) < (i) < (iv) < (v)

4, () < (iv) < (i) < (i) < (v)

Question Number : 40 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 4 WrongMarks: 1

= geafiEi F for afima S Az FH 2
(gda 9 99 ) -
CH
| s
H,C-C & H,C=CH —CH,
|
CH,4
(i) (if)
g g 2
Hc=¢  CH;, CN
(i) (iv) (v)
Options:

1. W) < ()< (iv) < (if) < (i)

2. (v) < (ui) < (i) < (iv) < (i)

3, (D) < (i) < @) < (iv) < (v)

4, (i) < (iv) < (i) < (i) < (v)

Question Number : 40 Question Type: MCQ Option Shuffling: Yes

gcollegedunias
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Correct Marks: 4 WrongMarks: 1
Al Heredaiul Al 4zl 542Ul
([Aeda 2l wean ozs)

CHy _
HC-CO  HC=CH=CH;
CH,
(i) (ii)
HC= E SH; oN
(iii) (iv) (v)

Options:

1. (¥) < (i) < (iv) < (ii) < (iii)

2 (v) < (i) < (if) < (iv) < (i)

3. (Hi) < (i) < (i) < (iv) < (v)

4, (1) < (iv) < (i) < (i) < (v)

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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A chemist has 4 samples of artificial
sweetener A, B, Cand D. To identify these
samples, he performed certain experiments

and noted the following observations :

(i) Aand D both form blue-violet colour
with ninhydrin.

(ii) Lassaigne extract of C gives positive
AgNO; test and negative
Fe,[Fe(CN)g]; test.

(iii) Lassaigne extract of B and D gives
positive sodium nitroprusside test.

Based on these observations which option

is correct ?

Options:
A : Alitame; B : Saccharin;

1 C :Aspartame; D :Sucralose

A : Aspartame; B : Saccharin;
2' C :Sucralose: D : Alitame

A : Aspartame; B : Alitame;
3 C : Saccharin; D : Sucralose

A : Saccharin; B : Alitame;
4 C : Sucralose; D : Aspartame

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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T i & I FHfam TH A, B, C a1

D =1 4 gfoesl €1 59 Wfaesl # TearE F

foru 394 %2 wam &4 991 77 Y=ol 1 92

o

(i) AﬂﬂlDéﬁﬁﬁfgﬁﬁﬁmaw—

= I EA )

(i) C =T E‘i"ﬂ gREd AgNO, & =14
HFHReH® 941 Fey[Fe(CN) ], & 919
TR T 34 2 |

(ii) B 791 D F1 &4 TR dHifzaw
ASZIYHAISS & 1Y FFHRTH T 20T

2
= FEUi ¥ SNE 9 S o fasen TE g2
Options:
A:W;B:W:C:m;
-'|_ D:Wﬁl

A : TPIEN; B : HFAH; C : g,

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

gcollegedunla
.................................


Stamp


2l s[Rz W gBH o ugeEHL 4 Ayl

A,B,CdAD 8. 2 A3rllzAiA 2orial del

Seels wdlll 531 ARkl 2adls-idl Al 53 -

(i) A2 D o Al 1L ol sdeiel
L M B,

(i) C -tdud [esdel eskicus AgNO,
sulel =ud &, B AslRLcHUs
Fe,[Fe(CN)y]; 541l 2ud 8.

(iii) B 24 D « dudd [Hresdel gsricus
Ay AgMEs 5612l =1 8.
GuRlscl 2iedisnAL 2uaR ARl sdi Hsey

ALl 87

Options:

Az wdlew; B : wslH; C o2y

1. D : -‘g}:lﬂ‘bﬁ

A 2eH; B UsElA; C: Ysidls;
2 D: wedley

A oy B owdlew; C 0 dsdlA;
3 D:ysidis

A : ¥58A; B - widly; C o ysidis;
D : 2Ruey
4.

Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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The major product Z obtained in the

following reaction scheme is :

NH,

e NHNDZ/ HC . X CUEB‘:‘E vy
Brf’“'::l“rr,f’ 273278 K

HNO,

—_—

H,SO,

Options:
Br

/J"h-,_
=l |

Br
1 NO,
Br
o,N_ L

Question Number : 42 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
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e sAfaferan =6 | 9 2 A1e 92 30E
Z¥:

NH,

— | NaNO,/HCI X Cu,Br, LY
Br EJ = 273-278 K

HNO;

e T W ?
H,S0,
Options:
Br

)

-

)
Br /H/J

1 NO,

Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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ARl Ubsl wadl Yoo luse Z 2Ll

NH,
J::?J NaNO,/HCl z CuyBr;
Br— X 273-278 K
HNO;
Options:

Br

Br

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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The major product (Y) in the following

reactions is :

CH,

CH;—CH-C=CH

(i) C;HsMgBr, H,O
(ii) Conc. HySO, /A

Options:
CH;—C=C—CH,4
I
1 CH,CH,
CHj

I
CH; —CH—-C=CH,
I

9 CH,CH,
L
CH;—CH—C=CH —CHj
|
3. CHs
I,

HiC- CCH ACH;
|
1 C,H;

Question Number : 43 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

H-,0

e arfuferansti & 93 32 (Y) #
e HgSO,, H,SO
| ;i h

CH,—CH—-C=CH- ¥ 274,

(i) C;HsMgBr, H,O
(ii) Conc. H,SO4/A

H,0

gcollegeduniag
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Options:

s
CH;-C=C—CH;,
|
1 CH,CH,
CH,

|
CH;—CH—C=CH,
|

2 CH,CHj,
o
CH; —CH—C=CH—CH,
|
3. Hy
CH,

H,C— C—CH—CHs
|
4 CoHs

Question Number : 43 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

Al 2 Wil o Hluse (Y) 20l

CHj,

| HgS0y 1150,

CH;—CH—C=CI
H,0

(i) CoHsMgBr, H,O
(ii) Mg, H,50,4/A

Options:
CH4

|
CH;—C=C—CH,
|

1 CH,CH,
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CHs
CH;—CH—-C=CH,
I

5 CH,CH,
s
CH;—CH—-C=CH-CH,4
I
3 CH;
:ilj 1,

HyC—C—CH—CHjy
I
4* CzHE

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The correct order of heat of combustion

for following alkadienes is :

@ ~
® ~
© / \
Options:

1 ©<®b)<@
9 (b)<(9)< (@)

3 @<©<®)

gcollegeduniag
.....


Stamp


4 @<®<E

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

=1 Ueres ¥ foU <29 5o =1 98 %9
T

@ ~

® ~

© /

Options:

1. ©@<(b)<(@)

2. (b)<(c)<)

3. (a)<(c)< ()

4 @<®)<(©)

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Al 2uesisday Al ged Gl Wl 53

UL :
(@) /_:r’
© /N~

Options: .
collegedunias
.....
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1. ©<®b)<@)

2. (b)) <()<(a)

3 @<©<®)

4 @<®)<E)

Question Number : 45 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

Identify (A) in the following reaction

sequence ;

() CHaMeBr Os/ZnH,0

(A)  —
Gives (ii)HT, HyO
Positive (iii) Conc. H,50,/A 0
iodoform Il
test il & ~H
‘*—?T CH
Hie OO
CHj,
Options:
- I"'\-_ -‘}
B e S
1 o CHj
CH,
OP!

gcollegeduniag
.....
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Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

= aAfuf@d=n s\aFa 9 (A) F1 729H
Hifaw

) OCHMeBr o Oy/ZnHO

gres (i) HY, HO
sz (i) 7% HpS0,/ A Q

& <A @ (\rcﬁH

o
HC ¢ C‘
CHj
Options:
.-"-.—" o ’x‘“m
&2
1 O° ~CH,
CH,4
N~ CHs
OP L

gcollegedunla
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Question Number : 45 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
Alzl e wls Aellul (A) 2ol

(A) @ CHMeBr O3/ZnH0

gSRICUS (i) HY, H,O
RSB (i) Hig HaSO./A
WL =0y 9 |

I\_/ — C‘:HS
i C=0
CH,
Options:
APt
L ot
s — g
1 0~ TCH,

gcollegedunias
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Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

Question Number : 46 Question Type: SA
Correct Marks: 4 Wrong Marks: O

The molarity of HNO, in a sample which
has density 1.4 g/ mL and mass percentage
of 63% is _____ . (Molecular Weight
of HNO,=63)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

14to0 14

Question Number : 46 Question Type: SA
Correct Marks: 4 Wrong Marks: O

34 gfaewl H, foo® 999 1.4 g/mL a0
FEHM Ffawrdl 63% =i 2, HNO, =i Hierdd

U _ (HNO, 1 :HR=63)
Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:

141014

Question Number : 46 Question Type: SA
Correct Marks: 4 WrongMarks: 0

2
405036125
Yes

gcollegedunias


Stamp


14 g/mL ®edl @A 63% 501 2519l 81l
25 YAl HNO, Al Hleukilef s
(HNO, =gz =63)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

14t014

Question Number : 47 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

How much amount of NaCl should be
added to 600 g of water (p=1.00 g/mL) to
decrease the freezing point of water to
-02C? . (The freezing

point depression constant for water=
2K kg mol 1)

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

1to2.01

Question Number : 47 Question Type: SA
Correct Marks: 4 WrongMarks: 0

600 g Tt (p=1.00g/mL) H NaCl =i fahat
|1 e S T 35e feqis 22 — 0.2°C
& 9?7 | (9t % fau fewiw
AT Feori =2 K kg mol 1)

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

1to2.01

Question Number : 47 Question Type: SA
Correct Marks: 4 WrongMarks: 0

welld srel [BEHl —0.2°C Al u2wsl sl we
NaCl -l 524l 22l 600 g el Gel us
o . (p=1.00 g/mL) well W s12el
(615 2istd 2unis =2 K kg mol 1)

Qcollegedunias
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

1to2.01

Question Number : 48 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

108 g of silver (molar mass 108 g mol ~ 1) is
deposited at cathode from AgNO;(aq)
solution by a certain quantity of electricity.
The volume (in L) of oxygen gas produced
at 273 Kand 1 bar pressure from water by

the same quantity of electricity is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

5.66 t0 5.68

Question Number : 48 Question Type: SA
Correct Marks: 4 WrongMarks: 0

us fafead faega = g/ AgNO,(Fefa) 3
108 g THE=R (e Z=99H 108 g mol 1)
Feire W eraa v ) faga =1 =69 amn
BRI 273 K 791 1 91 =& T F9/41 T3 ST
F1 Fa (L H) B0

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

5.66 t0 5.68

Question Number : 48 Question Type: SA
Correct Marks: 4 WrongMarks: 0

AgNO;(aq) L gL [Ssreiis AL 245534 sr2l
48 108 g (e (2igl) (lez 51108 g mol 1)
BS YR oL A . [Eermeiel @iedler seral
4% 273 K 244 1 bar gettel well szl 2As4sr+
ARy A %2 & ([Eeul) Goumt usl

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Qcollegedunias
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Answers Type: Range
Possible Answers::
5.66 to 5.68

Question Number : 49 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The hardness of awater sample containing
10 * M MgSO, expressed as CaCO,

equivalents (in ppm) is

(molar mass of MgSO, is 120.37 g /mol)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

100 to 100

Question Number : 49 Question Type: SA
Correct Marks: 4 WrongMarks: 0

10 ~3 M MgSO, a1 Siel & Ufaesl =l HSdl
e CaCO, H99ed (ppm¥) 9= 4
S 9, BFT —

(MgSO, ¥ Hier Hefd=120.37 g/mol)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

100 to 100

Question Number : 49 Question Type: SA
Correct Marks: 4 WrongMarks: 0

10~ 3M MgSO, “aiscl Wl =15 3yl
sélddl CaCO; A de & o ppm i g2lial

(MgSO, -+ ¥ez g1 =120.37 g/mol)
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range
Possible Answers:
100 to 100

Question Number : 50 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The mass percentage of nitrogen in
histamine is

Response Type: Numeric
Evaluation Required For SA: Yes

Qcollegedunias
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Show Word Count: Yes
Answers Type: Range
Possible Answers:

Question Number : 50 Question Type: SA
Correct Marks: 4 Wrong Marks: O

fe2fim § Ageism 1 =99A yfdead ©

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 50 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

[@zrud-ul AWeio--l su esinsl aiial

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Mathematics
Section Id : 40503677
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 100
Sub-Section Number: 1
Sub-Section 1d: 405036126
Question Shuffling Allowed : Yes

Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

If for all real triplets (a, b, ),
f(x)=a+bx+cx?; then Li f(x)dx is equal

to:

Options: gcollegedunias
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